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Refresher course in Econormics

Refresher course in EConomics

Which of the following is not a criteria required to give “Special Category Status™ to a state
in India.

(a) Hilly terrain
{b) Low population density and / or sizeable share of tribal population.
{c) Strategic location along borders with neighbouring countries.

{d) Very high growth rate of SDP.
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Given that a group of countries have identical savings rate, population growth rate but
differ only in terms of the capital labour ratio, then in the long run, GDP per capita of the
countries converges. The type of convergence implied is:

{a) Absolute convergence
(b) Conditional convergence
{c) Beta convergence

(d) No convergence

1.1
22
3.3
4. 4

Which of the following statistical measures can be used to estimate the sigma convergence
for a group of states/countries?

(a) Mean of per-capita GDP

{(b) Mode of per-capita GDP

{c) Median of per-capita GDP

{d) Standard deviation of per-capita GDP

1.1
2.2
3.3
4. 4

Bank Credit as a percentage of GDP for India in the vear 2015-16 was:

(@) 57%
) 45%
() 69%
() 70%

1.1
z2 2

2.3
4. 4
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Standard, Doubtful and Loss Assets are classification of the

(a) NPA of banks

(b) Balance Sheet of banks
(c) Assets of banks

{d) Borrowings of banks

1.1
z 2
3.3
4.4

NPA which has remained in the substandard category for a period of more than 12 months
is called as

{a) Substandard asset
(k) Doubtful asset

{c) Loss asset

{d) Vibrant asset

1.1
2 2
3.3
4. 4

Public Health expenditure in India has always remained around how much percent of
GDP?

(a) 1%

(b) 3%
(©) 6%
(d) 10%

1.1
22
3.3
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The percentage contribution to health care from the General Revenue in India is:

(a) 30%
(b) 20%
() 35%
(d) 25%

1.1
2 2
3. 3
4. 4

The percentage contribution to health care from Private and Secial insurance in India is:

(a) Less than 10%
(k) Equal to 20%
(c) More than 35%
(d) Equal To 25%

1.1
> 2
2.3
4. 4

The world’s largest social insurance scheme was launched by which country in August 20185.

{a) China
(b) USA

(c) India
(d) Pakistan

1.1
22
3.3
4. 4

www.FirstRanker.com



:l » FirstRanker.com

l the following is ot @ spurce for health sector financing:-
www.FirstRanker.com www.FirstRanker.com

{(a) General Revenue

{(b) Insurance

{c) Out of Pocket Financing
(d) Deficit Financing

1.1
2z
2.3
4. 4

When law compels the employer to deduct a certain percentage of each emplovee’s income
for health, the type of health financing is called as:-

(a) General Revenue

(b) Social Insurance

{c) Out of Pocket Financing
(d) Private Insurance

1.1
2.2
3.3
4. 4

. When the mandated health financing of a country IS low, health financing can be gained
through which of the following sources:-

(a) General Revenue
(b) Social Insurance
{c) Out of Pocket Financing
(d) Deficit Financing

1.1
2.2
3.3
4. 4
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is ocowrring is :

(a) Sigma Convergence

(b) Beta convergence

(c) Non convergence

{d) Conditional convergence

1.1
2.2
3.3
4. 4

NPA affect the profitability of banks in which of the following manner:-

{a) Positively
(b) Progressively
{c) Adversely
(d) Efficiently

1.1
2.z
2.3
4. 4

The act which set up the Reserve Bank of India (RBI) was :-

(a) RBI Act of 1034
(b) RBI Act of 1936
(c) RBI Act of 1930
(d) RBI Act of 1937

1.1
2.2
3.3
4. 4
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(a) Prof. Sukhamov Chakraborty
{b) Dr. C Rangarajan

(c) Urjit Patel

(d) D Mohanty

1.1
2z
2.3
4. 4

. After 1991 the money market rates were

(a) Administered

(b) Fixed

{c) Market Determined
(d) Constant

1.1
2z
2.3
4. 4

“Inflation is always and everywhere a monetary phenomenon’

{a) Milton Friedman
(b} JMLEKevnes

(c) J Schumpeter
(d) Minskey

1.1
22
3.3
4. 4

n 5vstem of India was chaired by
www.FirstRanker.com
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(a) Floating Inflation Targeting
(b) Flexible Inflation Targeting
(c) Fixed Inflation Targeting
(d) Feasible Inflation Targeting

1.1
2.2
3.3
4. 4

. In the New Keynesian Framework inflation is forecasted using which of the following
curves?

{(a) IS Curve

() LM Curve

(c) BP curve

{d) Phillips Curve

1.1
2 2
2.3
4. 4

The nominal anchor of Monetary Policy in India is

{a) WPI inflation

{b) CPI (Combined) inflation

{c) CPI (Combined) inflation forecast
{d) WPI inflation forecast

1.1
22
3.3
4. 4
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(a) Growth

{b) Exchange rate stability
{c) Financial stability

{d) Fiscal stability

1.1
z 2
>3
4.4

Under FIT the RBI is answerable to the parliament if it deviates from the targeted inflation
path due to which of the following mandatory features?

(a) Credibility

(b) Accountability
(c) Transparency
{(d) Acceptability

e A
OV VIS

Which of the following is not considered for *Conceptualization of Women’s Work”

{a) Valuation of unpaid care work;

(b) Visible and invisible work;

{c) Economically productive and socially productive work
{d) Leisure

1.1
2 2
2.3
4. 4

www.FirstRanker.com



:l I. Ir r s EIRE'rat ir:?k‘:eg“q

issue in the l:un mpnran

{a) True

(b) False
{c) Neutral

{d) Not sure

1.1
2 2
3.3
4. 4

a]lﬂtters vis-a-vis girls and women is not an

www.FirstRanker.com
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In which vear was the Women Empowerment Policy adopted by the Government of

India?

(a) 1990
(b) 2000
(c) 1995
(d) 2001

1.1
2 2
2.3
4. 4

. With reference to gender affirmative actions are measures of compensation for which of the

following options?

(a) Educational attainment
(b) Social Status

(c) Historic neglect

(d) Economic status

1.1
2.2
3.3
4. 4
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{(a) Elected representatives and motivated civil servants/ administrators, voluntary
organisations
(b) Students and vouth
(c) Housewives
(d) Teachers

1.1
2.2
3.3
4. 4

Women Component Plan & GB to play what kind of role for effective convergence, proper
utilisation and monitoring of fund from various developmental sectors?

{a) Contradictory
(b) Complementary
{c) Neutral

{d) Adverse

1.1
2.2
3.3
4. 4

Over the decades the workforce in India is moving from agriculture to which of the
following sectors?

(a) Construction Sector
(b) Mining Sector

(c) Teaching

(d) Fishing

1.1
2 2
2.3
4. 4
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{a) Cereals

(b) Oilseeds
{c) Cotton
(d) Pulses

1.1
22
3.3
4. 4

Cropping Intensity of India is approximately equal to

(a) 200%,
(b) 180%
(c) 142%
(d) 190%

1.1
2.2
3.3
4. 4

. If Prices fall below MSP, the government should intervene and

(a) Buy the agricultural produce
(b) Sell the agricultural produce
(c) Not intervene

(d) Let markets clear

1.1
2.2
3.3
4. 4

Construction activities related programs in India were boosted during which Five Year Plans 7

(a) 9th
(b) 10%

(¢ 1%
(d) 12% www.FirstRanker.com
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. Proportion of construction workers in India who are paid on daily-basis is?

(a) 35%
(b) 80%
() 64% -
d) 12%

1.1
22
3.3
4. 4

Over the last decade, wage-gaps bebween male and female construction workers have:

(a) Increase

(b) Declined

(c) Stagnated

(d) Completely changed

1.1
2 2
2.3
4. 4

For several crops in India the potential yield is

(a) Same as the realized vield
(b) More than the realized yield
(c) Less than the realized vield
(d) The highest in the world.

1.1
2.2
3.3

4. 4
www.FirstRanker.com
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. For the vear 2015-16, which of the following crops has the hichest vield per hectare in (kgs):-

(a) Rice

(b) Wheat

(c) Sugarcane
(d) Jute

1.1
2 2
2.3
4. 4

For the yvear 2017-18 the vield per hectare of sugarcane is highest in which of the following
states:

(a) Uttar Pradesh
(b) Tamil Nadu
(c) Gujarat

(d) Punjab

1.1
2.2
3.3
4. 4

Acreage for Maize is hichest in which of the following states of India:

(a) Madhya Pradesh
(b) Tamil Nadu

(c) Gujarat

(d) Karnataka

1.1
22
>3
4. 4
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(a) Open Unemployment
(b) Disguised Unemployvment
{c) Cyclical Unemplovment
(d) Underemplovment

1.1
2 2
2.3
4. 4

Which of the following can replace the MSP

(a) Price Deficiency system

(b) Conditional Cash Transfer
(c) Decentralised Procurement
(d) Universal Targeting

1.1
2 2
2.3
4. 4

Of the total subsidy bill, which of the following has the highest percentage?

(a) Fuel Subsidy

(b) Fertilizer Subsidy
(c) Food Subsidy

(d) Subsidy paid to FCI

1.1
22
3.3
4. 4

. Which of the following agencies are not entrusted with procurement?

(a) FCI
(b) SGA
(c) DCP States

www.FirstRanker.com
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4.4

NFSA nxintroduced in which year?

(a) 2013
(b) 2000
(c) 2015
(d) 2010

1.1
> 2
2.3
4. 4

Depletion of ground water as a result of MSP is seen primarily in which of the following states?

(a) Punjab and Haryvana

(b) Gujarat and Maharashtra
(c) West Bengal

{d) Madhva Pradesh

e
VI VIS

MISP refers to:

(a) Maximum Support Price
(b) Minimum Support Price
{c) Marginal Sales Price

{d) Minimum Sales Policy

1.1
22
3.3
4. 4
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(a) Jharkhand
(b) Chhattisgarh
{c) Bihar

(d) UP

1.1
2.2
3.3
4. 4

. MSP is recommended by

(a) CACP
() FCI
(c) DFPD
(d) RBI

1.1
2.2
3.3
4. 4

A NCAFR study found maximum exclusion error of more than 70% in which of the following
states?

{a) Assam

(b) Bihar

{c) Maharashtra
{d) Tamil Nadu

1.1
2z
2.3
4. 4

www.FirstRanker.com



L]
m 'uhﬁ&hﬂﬁﬁk@ﬁ&ﬁﬁ m::ldence of PDS purchase of rice in both rural and

N e fid vids highiast Sic tvhieleof the followi tes? .
® fgh ot thelo W\T\?\%ﬂrgﬂﬂ?anker.com www.FirstRanker.com

(a) Tamil Nadu
{(b) West Bengal
(c) Kerala
(d) Punjab

1.1
2.2
3.3
4. 4

Creative industries are referred as:

{a) Goods and services emerging from the specificity of culture and knowledge,
{(b) Goods and services emerging from culture

{c) Goods and services emerging from film production

{d) Goods and services emerging from farm production

1.1
2.2
3.3
4. 4

. The term cultural industries owes its origin to which of the following schools?

(a) Frankfurt school
(b) Chicago school

(c) Austrian school
{d) London School

1.1
2 2z
2.3
4. 4

What is the share of consumer spending on creative industries in G-7 countries according to
Ryan (2003)?

(a) More than 50%
{b) Less than S0%

{c) Z0-30%
(d) Less than 10% www.FirstRanker.com
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2.3
4. 4

Tick the right option to complete the following sentence: India’s export of creative goods is

(a) About 1/10" of China’s export
(b) About 1/9*® of China’s export
(c) About 1/6® of China’s export
{d) About half of China’s export

1.1
22
3.3
4. 4

What was the global rank of India in terms of export of creative goods in 20127

(a) 12 rank

(b) 4 rank

(c) O rank

{d) None of the above

e A
OV VIS

In which community highest number of suicide took place in Osmanabad during 2011-July
20177

(a) Lingayat
(b) Dhangar
(c) Maratha
(d) Mahar

1.1
z 2
3.3

4 4
www.FirstRanker.com
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In which age-group the highest number of farmers suicide took place in Osmanabad during
2011-July 2017?

{(a) 19-29 years
(k) 30-39 years
{c) 40-49 years
(d) None of the above

Ll
N I I

What was the major cause of the farmers suicide in Osmanabad during 2011-July 20177

{(a) Indebtedness

(b) Crop failure

{c) Daughter/sister marriage
(d) Well failure

1.1
2 2
3.3
4. 4

Maximum number of farmers who committed suicide in Osmanabad during 2011-July 2017
belonged to

{a) Marginal farmers category
(b) Small farmers category

() Medium farmers category
{d) Large farmer category

1.1
2.2
3.3
4. 4

www.FirstRanker.com
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(a) Regionalism

(b) Regional disputes

(c) Regional convergence
{d) Convergence

1.1
2z
2.3
4. 4

. Who propounded the growth pole theory?

{a) Francois Perroux
{(b) Solow
(c) Swan
{(d) Lucas

e
N VI VIS

www.FirstRanker.com
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Who said that growth pole is * a growing urban centre inducing growth in its surrounding

hinterland®?

{a) McCrone
(b) Perroux
(c) Lucas
{d) Nichole

e
N VI VIS

Who said “cities, not nations, should be salient unit for understanding economic process™?

(a) E.W. Soja
(h) Jane Jacobs

() Gunnar Myrdal
(d) F. Perroux

www.FirstRanker.com
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2.3
4. 4

Who was not associated with dependency school?

(a) F. Hayek

(b) A.G. Frank
{c) Paul Baran
{d) Das-Santos

1.1
22
3.3
4. 4

Who argued, “Development in low and middle income countries was not possible because
economic surplus was extracted from the global periphery by metropolitan centres
(industrialised countries)™ ?

(a) G. Myrdal

(b) Dos-Santos
(c) Paul Baran
(d) A.G. Frank

1.1
2.2
3.3
4. 4

What are the three criteria that Census India uses for classifving census towns?

{a) 2300 population, 400 persons per sq km, 75% of male non-agricultural worlers
(b) 5000 population, 800 persons per sq km, 75% of male non-agricultural workers
(c) 5000 population, 400 persons per sq km, 75% of male non-agricultural workers
(d) 5000 population, 400 persons per sq km, 50% of male non-agricultural worlkers

1.1

z Z

3 3 www.FirstRanker.com
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Which of the following states sees the largest change in the share of urban population when

using the administrative definition and the 5000 population definition?

(a) West Bengal
{(b) Kerala
(c) Bihar
(d) Tamil Nadu

1.1
2 2
2.3
4. 4

. The 742 Constitutional Amendment Act mandated that

(a) All rural settlements need to have Panchayats
{(b) Allurban settlements need to have local bodies
(c) All rural settlements need to have Hospitals
{d) Al rural settlements need to have Schools

1.1
2.2
3.3
4. 4

MGNREGA is meant to target which of the following areas:

(a) Rural areas
(b) Urban areas
(c) Rural and Urban areas
(d) Tribal areas

1.1
22
3.3
4. 4

www.FirstRanker.com
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(a) Clusters having a Maximum of 7000 persons per cluster

{b) Clusters having a Minimum of 50000 persons per cluster
{c) Clusters having a Minimum of 5000 persons per cluster
(d) Clusters having a Maximum of 5000 persons per cluster

1.1
22
3.3
4. 4

According to the census of 2011, the percentage of urban population in India was

(a) 31.2%
(b) 50%
() 40%
(d) 42.7%

1.1
2.z
2.3
4. 4

Metropolitan cities are created by

{a) Design

{(b) Emergence of economic activities
{c) Political Will

(d) Historical design

1.1
2z
2.3
4. 4

Which one in the following is not a feature of metropolitan area:-

(a) Having population of 10 lakhs or more

(b) One or more district with two or more municipality or panchavat
(c) Contiguous areas specified by governor

{d) Having a population of less than 5 lakh

www.FirstRanker.com
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.Madras metropolitan region came into existence in which year:

(a) 1970
(b) 1962
() 1969
(d) 1965

1.1
2z
2.3
4. 4

The Mumbai metropolitan region came into existence by which of the following vears

(a) 1973
(b) 1980
(c) 1965
(d) 1960

1.1
22
3.3
4. 4

Labour Force Participation Rate (LFPR) refers to which of the following statements?

{a) Emploved as a percentage of Labour Force

(b) Labour Force as a percentage of Population

{c) Not in Labour Force as a percentage of Population
{d) Self Employed as a percentage of Labour Force

1.1
2.2
3.3
4. 4

www.FirstRanker.com
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(a) Europe, North America, Asia, Africa
{(b) Africa, North America, Asia, Europe
{c) Asia, Europe, North America, Africa
{d) North America, Europe, Asia, Africa

1.1
22
3.3
4. 4

www.FirstRanker.com
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Reduction of number of workers is an example for which tvpe of labour market flexibility.

{a) Numerical
{b) Temporal
{c) Wage

{d) Functional

1.1
2.2
3.3
4. 4

By 2020, which of the following BRICS countries is likely to have the lowest percentage of

female labour force participation in the age group of 15 vears and above

{a) China
(b) India

{c) Russia
{d) Brazil

1.1
22
3.3
4. 4

www.FirstRanker.com
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(b) Pension

{c) Voter Identity Card
{d) Provident Fund

1.1
oz
2.3
4.4

. Which of the following is an example for transaction cost
(a) Cost of Production

() Wage

(c) Search Cost

(d) Value of Plant and Machinery

1.1
z 2
>3
4.4

. According to Oliver Williamson, Resource Allocation and Employment is more alisned
with

{a) Social Theory

(b) Neoclassical Economics/Agency Theory
{c) Economics of Property Rights

(d) Transaction Cost

1.1
2.2
3.3
4. 4
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{a) Karl Marx

{(b) Adam Smith

{c) Immanuel Wallerstein
{d) Paul Baran

1.1
2 2
2.3
4. 4

Which of the following assets has the largest market share in India:

(a) Scheduled Commercial Banks
(b)Regional Rural Banks

(c) Cooperative Banks
(d)Local Area Banks

1.1
2 2
2.3
4. 4

Centripetal system of governance generate which type of gcrowth effect?

(a) Spread Effects

(b) Backwash Effects

(c) Stagnation

(d) Balanced Development

1.1
z 2
>3
4.4
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(a) Voluntary agency
(b) Institution
(c) Labour Market
(d) Firm’s Management

1.1
z 2
>3
4.4

The inability of financial institutions to obtain funds to meet cash flow obligations is which of
the following risks:

(a) Credit Risk
(b) Liguidity Risk
(c)Market Risk
(c) Banking Risk

1.1
oz
2.3
4.4

The Indian financial sector is dominated by which of the following:

(a) Banks

(b) Insurance companies
(c) NBFC

(d) Mutual Funds

1.1
22
3.3
4. 4
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(a) U-shaped.

(b) Inverted U-shaped.

(c) Sigmoid

(d) A linear line curve, indicating the positive relationship between economic growth and
environmental quality.

www.FirstRanker.com www.FirstRanker.com

1.1
22
3.3
4. 4

What does the “Pollution haven™ mean?

(a) “Pollution Haven™ are those developing economies where foreign industries converge,
due to less stringent environmental regulations.

(b) “Pollution Haven™ are those economies developing economies which are facing severe
environmental threats due to rising pollution as a results of rising petroleum and
demand.

(c) “Pollution Haven™ are the developed economies with high level of pollution and
economic growth.

(d) All of the above.

1.1
22
3.3
4. 4

Which of the following environmental issues, are not faced by a country during the Poverty
stage according to the Stage model?

(a) Lower infant mortality rate
(b) Infectious diseases

(c) Water borne diseases
(d) High infant mortality rate

1.1
2.2
3.3
4. 4
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(a) Work/ Employment

(b) Education.
() Women marry & decide to migrate
(d) Pilsrimage

1.1
2z
2.3
4. 4

Labour moves from rural agriculture to the urban modern sector and migration continues till
the surplus labour from agriculture is absorbed. The growth model being referred to is:

{a) Lewis Model
(b) Harris-Todaro Model
{c) Harrod Domer Model
(d) Solow Model

1.1
2.2
3.3
4. 4

When an individual reports that the present place of enumeration was his or her usual place of

residence any time in the past he is a

(a) A reiurn migrant
(b) Permanent migrant
() Temporary migrant
(d) Casual migrant

1.1
2 2
2.3
4. 4
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{a) Monthly Per Capita Expenditure
(b) Marginal Per Capita Expenditure
() Maximum Per Capita Expenditure
{d) Minimum Per Capita Expenditure

www.FirstRanker.com www.FirstRanker.com

1.1
2 2
2.3
4. 4

N550 stands for which of the following?
(a) National Sample Survey Office

(b) New Sample Survey Office

(c) National Statistical Survey Office

(d) National Sample Statistics Office
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In the New Keynesian literature the demand side of the economy is measured by which of the
following curves.

(a) LM Curve
(b) Dynamic IS curve
(c) Phillips Curve

(d) Laffer Curve
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HabiitanelbeLDationds India is esfimatod nsfpe whicp ob e ollowing pris s i ker.com
{(a) WPI

(b) PPI
(c) NEW CPI combined

(d) CPI Industrial workers
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